Program	Annual No. of Respondents	Total Annual Responses	Annual Burden Hours	Dollar Value of Annual Burden Hours
12.1 NAWCA	450	621	27,942	\$264,317.60
12.2 NMBCA	163	220	5,657	\$47,631.94
12.3 Sport Fish Restoration	7,500	10,125	125,000	\$6,198,499.42
12.4 Endangered Species Conservation	23	44	995	\$49,361.95
12.5 Fish & Wildlife Management	3,186	4,284	74,520	\$3,395,401.53
12.6 Cooperatove Endangered Species Conservation	764	1,226	27,332	\$762,552.54
12.7 Wildlife Without Borders	69	108	2,416	\$20,342.72
TOTAL:	12,155	16,628	263,862	\$10,738,107.70

Control No. applicable)	CFDA Number and Title	Annual No. of Respondents	Number of Submissions Each	Total Annual Responses	Completion Time per Response (Hours)	Annual Burden Hours	Hourly Labor Costs (Incl. Benefits)	Dollar Value of Annu Burden Hours
	15.623 North American Wetlands Con	servation Fund	(NAWCA)		<u> </u>		·	
	Applications - NAWCA U.S. Small Grant		•					
	International - Individuals	1	1	1	40	40	8.42	\$336.
	International - Private Sector	54	1	54	40	2,160	8.42	·
	International - Government	16	1	16	40	640	8.42	
	Subtotals:	71	_	71		2,840		\$23,912.
	Applications - NAWCA U.S. Standard Grant	, <u> </u>		/ <del>-</del>		_,-,		<del>-</del>
	International - Individuals	1	1	1	203	203	8.42	\$1,709.
	International - Private Sector	53	1	53	203	10,759	8.42	
	International - Government	15	1	15	203	3,045	8.42	
	Subtotals:	69		69		14,007		\$117,938
	Applications - NAWCA U.S. Standard Grant (Co					_ ,,		¥ = = 1, = = 1
	Mexico - Individuals	1	1	1	80	80	5.62	\$449
	Mexico - Private Sector	13	1	13	80	1,040	5.62	\$5,844
	Canada - Private Sector	9	1	9	80	720	32.14	\$23,140
	Mexico - Government	4	1	4	80	320	5.62	\$1,798
	Subtotals:	27		27		2,160		\$31,233
	Amendments					_,		,,
	Amendments - NAWCA U.S. Small Grant							
	International - Individuals	1	1	1	3	3	8.42	\$25
	International - Private Sector	1	1	1	3	3	8.42	\$25
	International - Government	1	1	1	3	3	8.42	\$25
	Subtotals:	3	_	3	-	9		\$75
	Amendments - NAWCA U.S. Standard Grant							Ψ, σ
	International - Individuals	1	1	1	3	3	8.42	\$25
	International - Private Sector	1	1	1	3	3	8.42	\$25
	International - Government	1	1	1	3	3	8.42	\$25
	Subtotals:	3	_	3		9	3,12	\$75
	Amendments - NAWCA U.S. Standard Grant (C	<u> </u>						4,75
	Mexico - Individuals	1	1	1	3	3	5.62	\$10
	Mexico - Private Sector	1	1	1	3	3	5.62	\$10
	Canada - Private Sector	1	1	1	3	3	32.14	\$90
	Mexico - Government	1	1	1	3	3	5.62	
	Subtotals:	4	-	4	Ů.	12	3.02	\$147
	Annual Financial Reports - International	<u> </u>		<u> </u>				Ψ±17
	U.S. Small Grant - Individuals							
	Reporting				25	25	8.42	\$210
	Recordkeeping	1	1	1	8	8	8.42	·
	U.S. Small Grant - Private Sector						0.12	ΨΟ
	Reporting				25	500	8.42	\$4,210
	Recordkeeping	20	1	20	8	160	8.42	
	U.S. Small Grant - Government						31.12	<b>42,01</b>
	Reporting		I		25	100	8.42	\$842
	Recordkeeping	4	1	4	8	32	8.42	·
	Subtotals:	25		25	, and the second	825	3.42	\$6,946
	U.S. Standard Grant - Individuals					<u> </u>		ψ0,740
	Reporting				23	23	8.42	\$19
	Recordkeeping	1	1	1	7	7	8.42	·
	U.S. Standard Grant - Private Sector				<u>'</u>	,	J.42	\$50
	Reporting				23	621	8.42	\$5,22
	Recordkeeping	27	1	27	7	189	8.42	

U.S. Standard Grant - Government							
Reporting	6	1	6	23	138	8.42	\$1,161.96
Recordkeeping		_		7	42	8.42	\$353.64
Subtotals:	34		34		1,020		\$8,588.40
Mexico U.S. Standard - Individuals							
Reporting	1	1	1	23	23	5.62	129.20
Recordkeeping	1	1	1	7	7	5.62	39.3
Mexico U.S. Standard - Private Sector							
Reporting	<u> </u>	4	-	23	115	5.62	646.30
Recordkeeping	5	1	5	7	35	5.62	196.70
Canada U.S. Standard - Private Sector				•			
Reporting	,	4	,	23	138	32.14	4,435.3
Recordkeeping	6	1	6	7	42	32.14	1,349.88
Mexico U.S. Standard - Government				<u> </u>			
Reporting	_	_		23	23	5.62	129.2
Recordkeeping	1	1	1	7	7	5.62	39.3
Subtotals:	13		13		390		\$6,965.40
Financial Reports Subtotals:	72		72		2,235		\$22,500.30
Quarterly Performance Reports - International			-				,,
U.S. Small Grant - Individuals							
Reporting				6	24	8.42	\$202.08
Recordkeeping	1	4	4	2	8	8.42	\$67.36
U.S. Small Grant - Private Sector				_	-		******
Reporting				6	120	8.42	\$1,010.40
Recordkeeping	5	4	20	2	40	8.42	\$336.80
U.S. Small Grant - Government					10	0.12	<del>+000.00</del>
Reporting		I		6	96	8.42	\$808.32
Recordkeeping	4	4	16	2	32	8.42	\$269.44
Subtotals:	10		40	_	320	0.12	\$2,694.40
U.S. Standard Grant - Individuals	10		10		020		Ψ2,07-110
Reporting				8.5	34	8.42	\$286.28
Recordkeeping	1	4	4	1.5	6	8.42	\$50.52
U.S. Standard Grant - Private Sector				1.5	0	0.42	\$30.3 <u>2</u>
Reporting				8.5	918	8.42	\$7,729.56
Recordkeeping	27	4	108	1.5	162	8.42	\$1,364.04
U.S. Standard Grant - Government				1.5	102	0.42	\$1,304.04
Reporting				8.5	204	8.42	\$1,717.68
Recordkeeping	6	4	24	1.5	36	8.42	\$303.12
Subtotals:	34		136	1.5	1,360	0.42	\$11,451.20
Mexico U.S. Standard - Individuals	34		130		1,300		\$11, <del>4</del> 31.20
Reporting				8.5	34	5.62	191.08
Recordkeeping	1	4	4		6	5.62	33.72
Mexico U.S. Standard - Private Sector				1.5	0	3.02	33./2
Reporting		l l		8.5	170	5.62	955.40
Recordkeeping	5	4	20	1.5	30	5.62	168.60
Canada U.S. Standard - Private Sector				1.3	30	5.02	100.00
Reporting		I		0 =	204	22.44	L E E ! E !
Recordkeeping	6	4	24	8.5 1.5	204 36	32.14 32.14	6,556.56 1,157.04
Mexico U.S. Standard - Government				1.5	30	32.14	1,157.04
		I		0.5	0.4	E / 0	404.04
Reporting	1	4	4	8.5	34	5.62	191.08
Recordkeeping	10		F0	1.5	6	5.62	33.72
Subtotals:	13		52		520		\$9,287.20
Quarterly Performance Reports Subtotals:	57		228		2,200		\$23,432.80

Annual Performance Reports - International							
U.S. Small Grant - Individuals							
Reporting				25	25	8.42	\$210.5
Recordkeeping	1	1	1	8	8	8.42	\$67.
U.S. Small Grant - Private Sector				<u> </u>		5.12	ψ37.
Reporting				25	500	8.42	\$4,210.0
Recordkeeping	20	1	20	8	160	8.42	\$1,347.2
J.S. Small Grant - Government					100	0.42	Ψ1,047.2
Reporting				25	100	8.42	\$842.
Recordkeeping	4	1	4	8	32	8.42	\$269.4
Subtotals:	25		25	, and the second	825	0.42	\$6,946.5
U.S. Standard - Individuals			25		023		φο, γ-10.5
Reporting				23	23	8.42	\$193.6
Recordkeeping	1	1	1	7	7	8.42	\$58.
J.S. Standard Grant - Private Sector				,	,	0.42	Ψ30.
Reporting				23	621	8.42	\$5,228.8
Recordkeeping	27	1	27	7	189	8.42	\$1,591.3
U.S. Standard Grant - Government				,	107	0.42	\$1,371
Reporting		T T		23	138	8.42	\$1,161.
Recordkeeping	6	1	6	7	42	8.42	\$353.
Subtotals:	34		34	,	1,020	0.42	\$8,588.4
Mexico U.S. Standard - Individuals	34		34		1,020		<del>\$</del> 0,500
Reporting				23	23	5.62	129.2
Recordkeeping	1	1	1	7	7	5.62	39.
Mexico U.S. Standard - Private Sector				/	/	3.02	37.
Reporting				23	115	5.62	646.3
Recordkeeping	5	1	5	7	35	5.62	196.
Canada U.S. Standard - Private Sector				/	35	5.02	190.
				23	138	32.14	4,435.3
Reporting	6	1	6	7	42		
Recordkeeping  Mexico U.S. Standard - Government				/	42	32.14	1,349.8
Reporting	<u> </u>	1		23	23	5.62	129.2
	1	1	1		7		
Recordkeeping	40		40	7		5.62	39.3
Subtotals:			13		390		\$6,965.4
Annual Performance Reports Subtotals:	72		72		2,235		\$22,500.3
Annual Property Reports - International  J.S. Small Grant - Individuals							
				25	05	0.40	\$210.
Reporting	1	1	1	25	25	8.42	
Recordkeeping  J.S. Small Grant - Private Sector				8	8	8.42	\$67.
				25	F00	0.40	#4.040
Reporting	20	1	20	25	500	8.42	\$4,210.
Recordkeeping				8	160	8.42	\$1,347.
J.S. Small Grant - Government				05	100	0.40	+0.40
Reporting	4	1	4	25	100	8.42	\$842.
Recordkeeping	05		05	8	32	8.42	\$269.
Subtotals:	25		25		825		\$6,946.
J.S. Standard - Individuals						0.40	1460
Reporting	1	1	1	23	23	8.42	\$193.0
Recordkeeping				7	7	8.42	\$58.
J.S. Standard Grant - Private Sector							
Reporting	27	1	27	23	621	8.42	\$5,228.8
Recordkeeping	I	_		7	189	8.42	\$1,591.3
J.S. Standard Grant - Government				<u> </u>	107	0. 12	+ -, - : - :

Reporting				23	138	8.42	\$1,161.96
Recordkeeping	6	1	6	7	42	8.42	\$353.64
. 5				/		0.42	
Subtotals:	34		34		1,020		\$8,588.40
Mexico U.S. Standard - Individuals							
Reporting	1	1	1	23	23	5.62	129.26
Recordkeeping	1	_	1	7	7	5.62	39.34
Mexico U.S. Standard - Private Sector							
Reporting	5	1	5	23	115	5.62	646.30
Recordkeeping	3	1	<u> </u>	7	35	5.62	196.70
Canada U.S. Standard - Private Sector							
Reporting	6	1	6	23	138	32.14	4,435.32
Recordkeeping	0	_	0	7	42	32.14	1,349.88
Mexico U.S. Standard - Government							
Reporting	1	1	1	23	23	5.62	129.26
Recordkeeping	1	1	1	7	7	5.62	39.34
Subtotals:	13		13		390		\$6,965.40
Annual Property Reports Subtotals:	72		72		2,235		\$22,500.30
TOTAL 12.6 NAWCA:	450		621		27,942		\$264,317.60

OMB Control No. (if applicable)	CFDA Number and Title	Annual No. of Respondents	Number of Submissions Each	Total Annual Responses	Completion Time per Response (Hours)	Annual Burden Hours	Hourly Labor Costs (Incl. Benefits)	Dollar Value of Annual Burden Hours
	15.635 Neotropical Migratory Bird Cor	servation (NMI	BCA)					
	Applications							
	International - Individuals	1	1	1	60	60	8.42	\$505.20
	International - Private Sector	64	1	64	60	3,840	8.42	\$32,332.80
	International - Government	19	1	19	60	1,140	8.42	\$9,598.80
	Subtotals:	84		84		5,040		\$42,436.80
	Amendments							
	International - Individuals	1	1	1	3	3	8.42	\$25.26
	International - Private Sector	1	1	1	3	3	8.42	\$25.26
	International - Government	1	1	1	3	3	8.42	\$25.26
	Subtotals:	3		3		9		\$75.78
	Annual Financial Reports				<u> </u>	<u> </u>		
	International - Individuals							
	Reporting	1	1	1	6	6	8.42	\$50.52
	Recordkeeping	1	1	1	2	2	8.42	\$16.84
	International - Private Sector				•		<u> </u>	
	Reporting	14	1	1.4	6	84	8.42	\$707.28
	Recordkeeping	14	1	14	2	28	8.42	\$235.76
	International - Government						<u>'</u>	
	Reporting	4	1	4	6	24	8.42	\$202.08
	Recordkeeping	4	1	4	2	8	8.42	\$67.36
	Subtotals:	19		19		152		\$1,279.84
	Quarterly Performance Reports							
	International - Individuals							
	Reporting	1	4	4	1.50	6	8.42	\$50.52
$\succeq$	Recordkeeping	1	4	4	0.50	2	8.42	\$16.84
$\Sigma$	International - Private Sector							
Ŷ	Reporting	4.4	4	F./	1.50	84	8.42	\$707.28
1018-0100	Recordkeeping	14	4	56	0.50	28	8.42	\$235.76
<u> </u>	International - Government							
$\sim$	Reporting	4	4	16	1.50	24	8.42	\$202.08
	Recordkeeping	4	4	10	0.50	8	8.42	
	Subtotals:	19		76		152		\$1,279.84
	Annual Performance Reports - International							
	International - Individuals							
	Reporting	1	1	1	6	6	8.42	\$50.52
	Recordkeeping	1	1	1	2	2	8.42	\$16.84
	International - Private Sector							
	Reporting	14	1	14	6	84	8.42	\$707.28
	Recordkeeping	14	1	14	2	28	8.42	\$235.76
	International - Government							
	Reporting	4	4	4	6	24	8.42	\$202.08
	Recordkeeping	4	1	4	2	8	8.42	\$67.36
	Subtotals:	19		19		152		\$1,279.84
	Annual Property Reports - International							
	International - Individuals							
	Reporting	4	1	1	6	6	8.42	\$50.52
	Recordkeeping	1	1	1	2	2	8.42	
		<u> </u>	l			_		, -31 <b>0</b> .

OMP Control No

International - Private Sector							
Reporting	1.4	1	14	6	84	8.42	\$707.2
Recordkeeping	14		14	2	28	8.42	\$235.7
International - Government							
Reporting	4	4	4	6	24	8.42	\$202.0
Recordkeeping	4	1	4	2	8	8.42	\$67.3
Subtotals:	19		19		152		\$1,279.8
TOTAL 12.6 NAWCA:	163		220		5,657		\$47,631.9

OMB Control No.		Annual No. of	Number of		Completion Time per		Hourly Labor Costs (Incl.	Dollar Value of Annual						
(if applicable)	CFDA Number and Title	Respondents	Submissions Each	Total Annual Responses	Response (Hours)	Annual Burden Hours	Benefits)	Burden Hours						
	15.605 Sport Fish Restoration													
	15.611 Wildlife Restoration and E													
	15.614 Coastal Wetlands Plannin													
	15.615 Cooperative Endangered S	Species Conserv	ration Fund											
	15.616 Clean Vessel Act													
	15.622 Sportfishing and Boating S													
	15.625 Wildlife Conservation and		ollection limited to	o recipient reporting)										
	15.626 Enhanced Hunter Education													
	15.628 Multistate Conservation C													
	15.633 Landowner Incentive (coll	ection limited to	o recipient reporti	ing)										
	15.634 State Wildlife Grants 15.639 Tribal Wildlife Grants 15.649 Service Training and Technical Assistance (collection limited to recipient reporting) 15.650 Research Grants (collection limited to recipient reporting) 15.653 National Outreach and Communication													
	15.664 Fish and Wildlife Coordina	ation and Assist	ance											
	15.667 Highlands Conservation													
	15.668 Coastal Impact Assistance	(collection limi	ted to recipient re	eporting)										
	Applications													
	Private Sector	11	1	11	37	407	44.30	18,030.10						
9	Government	2,489	1	2,489	37	92,093	49.61	4,568,733.73						
_ <del>8</del>	Subtotals:	2,500		2,500		92,500		\$4,586,763.83						
and	Amendments													
its :	Private Sector	5	1	5	3	15	44.30	664.50						
irar 84,	Government	1,495	1	1,495	3	4,485	49.61	222,500.85						
9, 1,	Subtotals:	1,500		1,500		4,500		\$223,165.35						
<b>O</b> 35°,	Annual Financial Reports													
R 8	Private Sector													
🔾 ಚಿ	Reporting	3	1	3	6	18	44.30	\$797.40						
_ R d S S	Recordkeeping	3	1	3	2	6	44.30	\$265.80						
<b>交</b> 張 亮	Government													
ort De	Reporting	872	1	872	6	5,232	49.61	\$259,559.52						
Sp	Recordkeeping	072	1	072	2	1,744	49.61	\$86,519.84						
Agr and	Subtotals:	875		875		7,000		\$347,142.56						
1018-0109 Wildlife and Sport Fish Restoration Grants and ooperative Agreements, 50 CFR 80, 81, 84, 85, and 86	Quarterly Performance Reports													
idii rati	Private Sector													
W M	Reporting	3	4	12	1.75	21	44.30	\$930.30						
Ö	Recordkeeping		т		0.25	3	44.30	\$132.90						
	Government													
	Reporting	872	4	3,488	1.75	6,104	49.61	\$302,819.44						
	Recordkeeping		7		0.25	872	49.61	\$43,259.92						
	Subtotals:	875		3,500		7,000		\$347,142.56						
	Annual Performance Reports													
	Private Sector													
	Reporting	3	1	3	6	18	44.30	\$797.40						
	Recordkeeping		1	3	2	6	44.30	\$265.80						

Government							
Reporting	872	1	872	6	5,232	49.61	\$259,559.5
Recordkeeping	0/2	1	0/2	2	1,744	49.61	\$86,519.8
Subtotals:	875		875		7,000		\$347,142.5
Annual Property Reports							
Private Sector							
Reporting	2	1	3	6	18	44.30	\$797.4
Recordkeeping	3	1	3	2	6	44.30	\$265.8
Government							
Reporting	872	1	872	6	5,232	49.61	\$259,559.5
Recordkeeping	0/2	1	0/2	2	1,744	49.61	\$86,519.8
Subtotals:	875		875		7,000		\$347,142.5
12.1 Totals:	7,500		10,125		125,000		\$6,198,499.4

OMB Contr	ol No.
(if applica	able)
1018-0154	Wolf-Livestock Demonstration Project Grant Program

CFDA Number and Title	Annual No. of Respondents	Number of Submissions Each	Total Annual Responses	Completion Time per Response (Hours)	Annual Burden Hours	Hourly Labor Costs (Incl. Benefits)	Dollar Value of Annual Burden Hours
15.666 Endangered Species Conservation	on-Wolf Livestock L	oss Compensation a	nd Prevention				
Applications							
Government	10	2.2	22	8	176	49.61	8,731.36
Amendments							
Government	1	1	1	3	3	49.61	148.83
Annual Financial Reports							
Government							
Reporting	3	1	3	72	216	49.61	\$10,715.76
Recordkeeping		1	3	8	24	49.61	\$1,190.64
Quarterly Performance Reports							
Government							
Reporting	3	4	12	7.50	90	49.61	\$4,464.90
Recordkeeping		4	12	0.50	6	49.61	\$297.66
Annual Performance Reports							
Government							
Reporting	3	1	3	72	216	49.61	\$10,715.76
Recordkeeping	3	1	S	8	24	49.61	\$1,190.64
Annual Property Reports							
Government							
Reporting	3	1	3	72	216	49.61	\$10,715.76
Recordkeeping		1	3	8	24	49.61	\$1,190.64
12.2 Totals:	23		44		995		\$49,361.95

ol No.		A	Nl				Hourly Labor Costs (Incl.	D. H. W.L. CA.
ble)	CFDA Number and Title	Annual No. of Respondents	Number of Submissions Each	Total Annual Responses	Completion Time per Response (Hours)	Annual Burden Hours		Burden Hours
	15.608 Fish and Wildlife Manage	ment Assistance	2					
	15.630 Coastal							
	15.631 Partners for Fish and Wild	life						
	15.636 Alaska Subsistence Manag							
	15.643 Alaska Migratory Bird Co-		ouncil					
	15.644 Federal Junior Duck Stam							
	15.647 Migratory Bird Conservati							
	15.648 Central Valley Improvement		mous Fish Resto	ration (AFR)				
	15.652 Invasive Species							
	15.654 National Wildlife Refuge S	system Enhance	ments					
	15.655 Migratory Bird Monitoring	g, Assessment a	nd Conservation					
	15.656 Recovery Act Funds - Hab	itat Enhanceme	nt. Restoration a	nd Improvement (colle	ection limited to red	cipient reporting)		
	15.657 Endangered Species Cons	ervation - Reco	verv Implementa	tion Funds				
	15.658 Natural Resource Damage							
	15.660 Endangered Species - Can							
	15.661 Lower Snake River Compe							
	15.662 Great Lakes Restoration	Tourion Flan						
	15.663 National Fish and Wildlife	Foundation						
	15.665 National Wetlands Invent							
	15.669 Cooperative Landscape Co		lection limited to	recipient reporting)				
	15.670 Adaptive Science							
	15.671 Yukon River Salmon Resea	arch and Manag	ement Assistance	 e				
	15.674 National Fire Plan-Wildlar	d Urhan Interfa	ace Community F	ire Δssistance				
	15.676 Youth Engagement, Educa							
	15.677 Hurricane Sandy Disaster							
	15.678 Cooperative Ecosystem St							
	15.679 Combating Wildlife Traffic							
	15.680 Mexican Wolf Recovery	<u>8</u>						
	15.681 Cooperative Agriculture							
	Applications							
	Individuals	151	1	151	37	5,587	45.55	\$254,487.
	Private Sector	911	1	911	37	33,707	44.30	1,493,220
	Government	370	1	370	37	13,690	49.61	679,160
	International - Individuals	1	1	1	37	37	8.42	\$311.
	International - Private Sector	2	1	2	37	74	8.42	623
	International - Government	2	1	2	37	74	8.42	623
	Subtotals:	1,437	1	1,437	37	53,169	0.42	\$2,428,426
	Amendments	1,437		1,407		33,107		\$2,420,420.
	Individuals	11	1	11	3	33	45.55	\$1,503
	Private Sector							24,586
		185	1	185	3	555	44.30	,
	Government	83	1	83	3	249	49.61	12,352
	International - Individuals	1	1	1	3	3	8.42	\$25
	International - Private Sector	3	1	3	3	9	8.42	75
	International - Government	2	1	2	3	6	8.42	50.
	Subtotals:	285		285		855		\$38,594.
	A							
	Annual Financial Reports							
	Individuals							
		40	1	40	6 2	240 80	45.55 45.55	

\$60,602.40 \$20,200.80 \$27,682.30 \$9,227.40 \$50.50 \$16.80 \$101.00 \$33.60 \$132,625.80 \$54,660.00 \$3,644.00
\$20,200.86 \$27,682.36 \$9,227.46 \$50.55 \$16.86 \$101.00 \$33.66 \$132,625.86 \$54,660.00 \$3,644.00
\$27,682.36 \$9,227.46 \$50.55 \$16.86 \$101.00 \$33.66 \$132,625.86 \$54,660.00 \$3,644.00
\$9,227.46 \$50.51 \$16.86 \$101.06 \$33.66 \$101.06 \$33.66 \$132,625.86 \$54,660.00 \$3,644.00
\$9,227.46 \$50.51 \$16.86 \$101.06 \$33.66 \$101.06 \$33.66 \$132,625.86 \$54,660.00 \$3,644.00
\$50.5: \$16.8- \$101.0- \$33.6: \$101.0- \$33.6: \$132,625.8- \$54,660.0: \$3,644.0:
\$16.8 \$101.0 \$33.6 \$101.0 \$33.6 \$132,625.8 \$54,660.0 \$3,644.0
\$16.8 \$101.0 \$33.6 \$101.0 \$33.6 \$132,625.8 \$54,660.0 \$3,644.0
\$101.0 \$33.6 \$101.0 \$33.6 \$132,625.8 \$54,660.0 \$3,644.0
\$33.66 \$101.00 \$33.66 <b>\$132,625.8</b> \$54,660.00 \$3,644.00
\$33.66 \$101.00 \$33.66 <b>\$132,625.8</b> \$54,660.00 \$3,644.00
\$101.0 \$33.6 \$132,625.8 \$54,660.0 \$3,644.0
\$33.64 \$132,625.84 \$54,660.00 \$3,644.00
\$33.64 \$132,625.84 \$54,660.00 \$3,644.00
\$33.64 \$132,625.84 \$54,660.00 \$3,644.00
\$132,625.84 \$54,660.00 \$3,644.00
\$54,660.00 \$3,644.00
\$3,644.00
\$3,644.00
\$3,644.00
+000 040 0
\$303,012.00
\$20,200.80
\$138,411.90
\$9,227.4
\$252.60
\$16.8
\$505.20
\$33.68
\$505.20
\$33.6
\$530,503.3
\$10,932.00
% IU 9.37 ().
\$10,932.00
\$3,644.00
\$3,644.00 \$60,602.40
\$3,644.00
\$3,644.00 \$60,602.40 \$20,200.80
\$3,644.00 \$60,602.40 \$20,200.80 \$27,682.33
\$3,644.00 \$60,602.40 \$20,200.80
\$3,644.00 \$60,602.40 \$20,200.80 \$27,682.31 \$9,227.40

International - Government									
Reporting	2	1	2	6	12	8.42	\$101.04		
Recordkeeping		1	2	2	4	8.42	\$33.68		
Subtotals:	366		366		2,928		\$132,625.84		
Annual Property Reports									
Individuals									
Reporting	40	1	40	6	240	45.55			
Recordkeeping	40	1	40	2	80	45.55	\$3,644.00		
Private Sector									
Reporting	228	1	228	6	1,368	44.30			
Recordkeeping	220	_	220	2	456	44.30	\$20,200.80		
Government									
Reporting	93	1	93	6	558	49.61	\$27,682.38		
Recordkeeping	7,5	1	73	2	186	49.61	\$9,227.46		
International - Individuals	International - Individuals								
Reporting	1	1	1	6	6	8.42			
Recordkeeping	•	1	1	2	2	8.42	\$16.84		
International - Private Sector									
Reporting	2	1	2	6	12	8.42			
Recordkeeping		_	2	2	4	8.42	\$33.68		
International - Government									
Reporting	2	1	2	6	12	8.42			
Recordkeeping		_		2	4	8.42	\$33.68		
Subtotals:			366		2,928		\$132,625.84		
12.3 Totals:	3,186		4,284		74,520		\$3,395,401.53		

OMB Control No. (if applicable)	CFDA Number and Title	Annual No. of Respondents	Number of Submissions Each	Total Annual Responses	Completion Time per Response (Hours)	Annual Burden Hours	Hourly Labor Costs (Incl. Benefits)	Dollar Value of Annual Burden Hours				
	15.615 Cooperative Endangered Species Conservation Fund											
	15.619 Rhinoceros and Tiger Conservation Fund											
	15.620 African Elephant Conservation Fund											
	15.621 Asian Elephant Conservation Fund											
	15.629 Great Apes Conservation Fund											
	15.645 Marine Turtle Conservation Fund											
	Applications											
	Individuals	3	1	3	22	66	45.55	\$3,006.30				
	Private Sector	248	1.545	383	22	8,426	44.30	373,271.80				
	Government	8	1	8	22	176	49.61	8,731.36				
	International - Individuals	5	1	5	22	110	8.42	\$926.20				
	International - Private Sector	166	1.545	256	22	5,632	8.42	47,421.44				
	International - Government	12	1	12	22	264	8.42	2,222.88				
	Subtotals:	442		667		14,674		\$435,579.98				
	Amendments						•					
	Individuals	1	1	1	3	3	45.55	\$136.65				
	Private Sector	1	1	1	3	3	44.30	132.90				
	Government	1	1	1	3	3	49.61	148.83				
	International - Individuals	1	1	1	3	3	8.42	\$25.26				
	International - Private Sector	1	1	1	3	3	8.42	25.26				
	International - Government	1	1	1	3	3	8.42	25.26				
	Subtotals:	6		6		18		\$494.16				
	Annual Financial Reports											
	Individuals											
	Reporting			,	32	32	45.55	\$1,457.60				
	Recordkeeping	1	1	1	8	8	45.55	\$364.40				
	Private Sector											
	Reporting	0.5		0.5	32	1,120	44.30	\$49,616.00				
	Recordkeeping	35	1	35	8	280	44.30	\$12,404.00				
	Government											
	Reporting			0	32	64	49.61	\$3,175.04				
	Recordkeeping	2	1	2	8	16	49.61	\$793.76				
	International - Individuals											
	Reporting			_	32	64	8.42	\$538.88				
	Recordkeeping	2	1	2	8	16	8.42	\$134.72				
	International - Private Sector				•		<u>'</u>					
	Reporting	07		0.7	32	1,184	8.42	\$9,969.28				
	Recordkeeping	37	1	37	8	296	8.42	\$2,492.32				
	International - Government											
	Reporting			_	32	64	8.42	\$538.88				
	Recordkeeping	2	1	2	8	16	8.42	\$134.72				
	Subtotals:	79		79		3,160		\$81,619.60				
	Quarterly Performance Reports						,					
	Individuals											
	Reporting	4	4	4	8	32	45.55	\$1,457.60				
	Recordkeeping	1			2	8	45.55	\$364.40				
	Private Sector											
	Reporting	25	4	140	8	1,120	44.30	\$49,616.00				
	Recordkeeping	35			2	280	44.30	\$12,404.00				
	Government											
	Reporting	2	1	, a	8	64	49.61	\$3,175.04				
	•	,		. *			,					

Recordkeeping International - Individuals Reporting Recordkeeping International - Private Sector Reporting Recordkeeping	2	4		2	16	49.61	\$793.76
Reporting Recordkeeping International - Private Sector Reporting Recordkeeping	2	4		0			
Recordkeeping International - Private Sector Reporting Recordkeeping	2	4		0			
International - Private Sector Reporting Recordkeeping	2	1 4		8	64	8.42	\$538.88
International - Private Sector Reporting Recordkeeping		· ·	8	2	16	8.42	\$134.72
Recordkeeping			1				
Recordkeeping				8	1,184	8.42	\$9,969.28
	37	4	148	2	296	8.42	\$2,492.32
International - Government				_			7-,
Reporting				8	64	8.42	\$538.88
Recordkeeping	2	4	8	2	16	8.42	\$134.72
Subtotals:	79		316	_	3,160		\$81,619.60
Annual Performance Reports	.,				3,200		<del>+</del>
Individuals							
Reporting				32	32	45.55	\$1,457.60
Recordkeeping	1	1	1	8	8	45.55	\$364.40
Private Sector					- U	45.55	\$304.40
Reporting				32	1,120	44.30	\$49,616.00
Recordkeeping	35	1	35	8	280	44.30	\$12,404.00
Government				0	200	44.30	\$12,404.00
Reporting				32	64	49.61	\$3,175.04
Recordkeeping	2	1	2	8	16	49.61	\$3,173.04
International - Individuals				0	10	49.01	\$793.70
				- 00	//	0.40	<b>*</b> 500.00
Reporting	2	1	2	32	64	8.42	\$538.88
Recordkeeping				8	16	8.42	\$134.72
International - Private Sector		1			1.00	0.40	10.010.00
Reporting	37	1	37	32	1,184	8.42	\$9,969.28
Recordkeeping				8	296	8.42	\$2,492.32
International - Government							
Reporting	2	1	2	32	64	8.42	\$538.88
Recordkeeping		_		8	16	8.42	\$134.72
Subtotals:	79		79		3,160		\$81,619.60
Annual Property Reports							
Individuals							
Reporting	1	1	1	32	32	45.55	\$1,457.60
Recordkeeping			-	8	8	45.55	\$364.40
Private Sector							
Reporting	35	1	35	32	1,120	44.30	\$49,616.00
Recordkeeping	33	1	33	8	280	44.30	\$12,404.00
Government							
Reporting	2	1	2	32	64	49.61	\$3,175.04
Recordkeeping	2	1	2	8	16	49.61	\$793.76
International - Individuals							
Reporting	2	1	2	32	64	8.42	\$538.88
Recordkeeping	2	1	2	8	16	8.42	\$134.72
International - Private Sector							
Reporting	27	4	27	32	1,184	8.42	\$9,969.28
Recordkeeping	37	1	37	8	296	8.42	\$2,492.32
International - Government							
Reporting	2	4	2	32	64	8.42	\$538.88
Recordkeeping	2 1	1	1 2	8	16	8.42	\$134.72
Subtotals:	79		79		3,160		\$81,619.60
12.4 Totals:	764		1,226		27,332		\$762,552.54

ol No. ıble)	CFDA Number and Title	Annual No. of	Number of Submissions Each	Total Annual Responses	Completion Time per	Americal December 11	Hourly Labor Costs (Incl.			
	15.651 Wildlife Without Borders-	Respondents	Submissions Each	Total Annual Responses	Response (Hours)	Annual Burden Hours	Benefits)	Burden Hours		
	15.637 Migratory Bird Joint Vent	ures								
	15.640 Wildlife Without Borders-									
	15.641 Wildlife Without Borders-									
	15.672 Wildlife Without Borders-Amphibians in Decline (collection limited to recipient reporting) 15.673 Wildlife Without Borders-Critically Endangered Animal Conservation (limited to recipient reporting)									
		Critically Endar	ngered Animal Co	<b>nservation</b> (limited to r	ecipient reporting)					
	Applications									
	International - Private Sector	11	1	11	22	242	8.42	2,037.		
	International - Government	4	1	4	22	88	8.42	740.		
	Subtotals:	15		15		330		\$2,778.		
	Amendments									
	International - Private Sector	1	1	1	3	3	8.42	25.		
	International - Government	1	1	1	3	3	8.42	25.		
	Subtotals:	2		2		6		\$50.		
	Annual Financial Reports									
	International - Private Sector									
	Reporting				32	352	8.42	\$2,963.		
	Recordkeeping	11	1	11	8	88	8.42	\$740.		
	International - Government						0.42	Ψ/ 10.		
	Reporting				32	64	8.42	\$538.		
		2	1	2	8	16	8.42			
	Recordkeeping  Subtotals:	40		13	0	520	0.42	\$134. <b>\$4,378.</b>		
		13		13		520		\$4,378.		
	Quarterly Performance Reports									
	International - Private Sector									
	Reporting	11	4	44	8	352	8.42	\$2,963.		
	Recordkeeping				2	88	8.42	\$740.		
	International - Government									
	Reporting	2	4	8	8	64	8.42	\$538.8		
	Recordkeeping		•	9	2	16	8.42	\$134.		
	Subtotals:	13		52		520		\$4,378.		
	Annual Performance Reports									
	International - Private Sector									
	Reporting	11	1	11	32	352	8.42	\$2,963.		
	Recordkeeping	11	1	11	8	88	8.42	\$740.		
	International - Government		<u>'</u>		•					
	Reporting	_		_	32	64	8.42	\$538.		
	Recordkeeping	2	1	2	8	16	8.42	\$134.		
	Subtotals:	13		13		520		\$4,378.		
	Annual Property Reports					020		<del>+ 1,010.</del>		
	International - Private Sector									
	Reporting				32	352	8.42	\$2,963.		
	Recordkeeping	11	1	11	8	88				
	International - Government				<u> </u>	00	8.42	\$740.		
			1		20	4.4	0.40	<b>#E00</b>		
	Reporting	2	1	2	32	64	8.42	\$538.		
	Recordkeeping				8	16	8.42	\$134.		
	Subtotals:	13		13		520		\$4,378.		
	12.5 Totals:	69		108		2,416		\$20,342.		